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QUESTION 1

When creating a table, you can specify a column constraint for each individual column of either "NULL" or "NOT NULL".
When column values are later evaluated within a query statement, which of these is true? 

A. 0 is equal to null, the empty string ( \\'\\' ) is equal to null. 

B. 0 is equal to null, the empty string ( \\'\\' ) is not equal to null. 

C. 0 is not equal to null, the empty string ( \\'\\' ) is equal to null. 

D. 0 is not equal to null, the empty string ( \\'\\' ) is not equal to null. 

Correct Answer: D 

 

QUESTION 2

In order for an ODBC application running on Microsoft Windows to connect to PureData System for Analytics, which two
steps must be performed? (Choose two.) 

A. Install nzsql for Windows. 

B. Install nzAdmin for Windows. 

C. Install an ODBC driver for Windows. 

D. Install an ODBC Driver Manager for Windows. 

E. Create or modify a Data Source Name (DSN) for a connection to a database. 

Correct Answer: CE 

 

QUESTION 3

You have created a group GroupA with JOB MAXIMUM of 4, which statement is true? 

A. No more than 4 users can be assigned to GroupA. 

B. If users in GroupA submit more than 4 queries they will fail. 

C. If users in GroupA submit more than 4 queries, then they will queue in order. 

D. The job maximum cannot be less than the default concurrent query limit of 48. 

Correct Answer: C 

 

QUESTION 4

Which is a function of the Linux-HA heartbeat? 
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A. Performs regeneration of failed disks on the hosts. 

B. Manages communication and processes on the S-Blades. 

C. Performs disk partitioning and status of jobs on the S-Blades. 

D. Manages communication and status of services on the hosts. 

Correct Answer: D 

 

QUESTION 5

What is a benefit of Clustered Base Tables? 

A. Replicates base table data. 

B. An alternate way to order a table\\'s data. 

C. Materializes on disk joins between tables. 

D. Increases the performance of load operations. 

Correct Answer: B 
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